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SN OleHEefArE &
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g 216 Ol Xt==¢ (chel &
2H-2-2.8.5 Oll &F o & E 0l At Hr&E2
ES Al 10,852,300 7,308,678 3,543,622
OleH & et AL & 10,852,300 7,308,678 3,543,622
200 A2l =2 1,000, 100 0 1,000, 100
210 ZYHMA =& 100 100
216 Ol Xt=¢ 100 0 100
216-05 JIEFOI Kb ==& 100 0 100
OJIEt Ol Rt 100
220 SAIEA 2= 1,000,000 1,000,000
221 THAHDH 2F ==& 1,000,000 0 1,000,000
221-03 2R MM == 1,000,000 0 1,000,000
O=2g 20t EXNZ2Y k= 1,000,000
500 EX= 9,852,200 7,308,678 2,543,522
510 = D2X=S 8,610,000 6,592,748 2,017,252
511 218X =S 8,610,000 6,592,748 2,017,252
511-01 =2 102x=3 14,000 253,748 N 239,748
OsEddEy N2 14,000
511-02 XIGLHSEIIAHEXS 8,596,000 6,339,000 2,257,000
O=Z0ts &350 At 450,000
OSUE 2t01F =4 At 500,000
ODEEH AMMX FHIAMZ 560,000
O FFI|E &5 1,568,000
O=tAXN T &dR0tE =4 140,000
OKNUXN = &0t =4 69,000
OXNSHE L3 AL 91,000
O &S S &I 1,704,000
SExASE S| 1,509,000
ooty s&gdl 140,000
o=28d9 sgdl 140,000
Os380ts S8 210,000
OS20t= HEASE 110,000
OXT0tE MHEAS 105,000
OogddelXl A 1,300,000
520 Al - SHIBZZ3ES 1,242,200 715,930 526,270
521 Al - EHIEXZ=S 1,242,200 715,930 526,270
521-01 Al - THIEX 3 S 1,242,200 715,930 526,270
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